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1. People have been traditionally practicing occupations like mining and quarrying which 

involves exploiting natural resources to manufacture goods. List out various such 

occupations related to the primary sector. 

2. Agriculture is the predominant occupation of the primary sector and also has the largest share 

in national income. Mention different ways in which the primary sector, particularly, 

agriculture contributes towards economic development of a country. 

3. Manufacturing industries provide large scale employment besides other benefits which 

directly contribute to the country's progress. Discuss various ways in which industrialization 

helps in the development of the economy. 

4. Service sector is extremely important for ensuring opportunities and investments in a 

country. Explain how growth of the service sector has benefited the country globally. 

5. “All three sectors of economy are interlinked and complement each other in one way or the 

other.” In the light of the above statement, establish the link between the primary, secondary 

and tertiary sector with the help of examples. 

6. Visit a market nearby and make a list of various goods and services available and classify 

them into primary, secondary and tertiary sector. 

7. Employment opportunities have significantly increased due to remarkable growth in 

secondary and services sector. In the light of the statement, explain with example 

how employment rates have improved with growth of these sectors. 

8. Collect data about the contribution of various sectors of the economy to National Income. 

Find out which sector tends to make the largest contribution and mention some reasons for 

this trend. 

9. Even after a significant amount of growth in the industrial sector, it's contribution to National 

Income has not registered an expected progress. Suggest some measures which could be 

adopted for achieving desired progress in the Industrial sector. 

10. Primary sectors like agriculture could be benefitted by using modern technologies as 

compared to traditional methods of agriculture. Elaborate the statement. 

 


